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There are 5boys 607,52 60
forevery girls TEÉ kids
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18 34 8118affenstookies

13.5 X

You can make 16 dozen cookies 
with one dozen (12) eggs.

You will need 13.5 
eggs to make 18 dozen 
cookies.

There would be 25 
boys in a class of 60. 

They must sift through 
7142.9 tons of gravel.

Helpful Hint:  Write proportions so your unknown (what you are solving for) is in the numerator (on top).
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They will need ten 
pumps working.
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otgI
5 95 1515
26.7 4

cost
ofapples

0.19 X

You could buy about 
27 apples for $5.

18 apples would cost 
approximately $3.38.

One apple costs 19 cents.

Mystic and Hartford are 
26.25 miles apart.

Greenwich and Stonington are 
6 inches apart on the graph.

2560 tennis balls 
weigh 320 pounds.
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miles
minute
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minute
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54.4 8 6.8workdays

They would produce 0.94 
tons of widgets.

She can ride 43.2 miles 
in 2 hours.
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It would take 11.1 minutes to 
ride 4 miles. 

The unit rate is 21.6 
miles per hour.

It would take 6.8  8-hour 
work days to fill the order.
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At this rate, the glacier would 
travel 12.6 km in one year.


